TECHNICAL SPECIFICATIONS

Chapter

Service Overview

Carefully read through this chapter for a look at
various components of PB60 before performing any
service and repair.

information for technicians from distributors and resellers to perform the
complete PB60 disassembly and assembly. But before performing the
procedures, please be sure to read through the overview in this chapter.

T o provide the best service and support for PB60 we have provided below

The following chapter includes:

* PB60 Overview
« HDD

* Memory Module
* SSD Module

* WLAN Module
* Main Board

» Thermal Module
* VGA Board

» Switch Board

+ Battery

» Speaker

- CPU




y— 5
COPYRIGHT INFORMATION

No part of this manual, including the products and software described in it, may be reproduced,
transmitted, transcribed, stored in a retrieval system, or translated into any language in any form or
by any means, except documentation kept by the purchaser for backup purposes, without the
express written permission of ASUSTeK COMPUTER INC. ( “ASUS” ).

ASUS PROVIDES THIS MANUAL “ASIS” WITHOUT WARRANTY OF ANY KIND, EITHER
EXPRESS OR IMPLIED, INCLUDING BUT NOT LIMITED TO THE IMPLIED WARRANTIES OR
CONDITIONS OF MERCHANTABILITY OR FITNESS FOR A PARTICULAR PURPOSE. IN NO
EVENT SHALL ASUS, ITS DIRECTORS, OFFICERS, EMPLOYEES OR AGENTS BE LIABLE FOR
ANY INDIRECT, SPECIAL, INCIDENTAL, OR CONSEQUENTIAL DAMAGES (INCLUDING
DAMAGES FOR LOSS OF PROFITS, LOSS OF BUSINESS, LOSS OF USE OR DATA,
INTERRUPTION OF BUSINESS AND THE LIKE), EVEN IF ASUS HAS BEEN ADVISED OF THE
POSSIBILITY OF SUCH DAMAGES ARISING FROM ANY DEFECT OR ERROR IN THIS MANUAL
OR PRODUCT.

Products and corporate names appearing in this manual may or may not be registered trademarks
or copyrights of their respective companies, and are used only for identification or explanation and
to the owners’ benefit, without intent to infringe.

SPECIFICATIONS AND INFORMATION CONTAINED IN THIS MANUAL ARE FURNISHED FOR
INFORMATIONAL USE ONLY, AND ARE SUBJECT TO CHANGE AT ANY TIME WITHOUT
NOTICE, AND SHOULD NOT BE CONSTRUED AS A COMMITMENT BY ASUS. ASUS ASSUMES
NO RESPONSIBILITY OR LIABILITY FOR ANY ERRORS OR INACCURACIES THAT MAY
APPEAR IN THIS MANUAL, INCLUDING THE PRODUCTS AND SOFTWARE DESCRIBED IN IT.

Copyright © 2023 ASUSTeK COMPUTER INC. All Rights Reserved.
LIMITATION OF LIABILITY

Circumstances may arise where because of a default on ASUS’ part or other liability, you are
entitled to recover damages from ASUS. In each such instance, regardless of the basis on which
you are entitled to claim damages from ASUS, ASUS is liable for no more than damages for bodily
injury (including death) and damage to real property and tangible personal property; or any other
actual and direct damages resulted from omission or failure of performing legal duties under this
Warranty Statement, up to the listed contract price of each product.

ASUS will only be responsible for or indemnify you for loss, damages or claims based in contract,
tort or infringement under this Warranty Statement. This limit also applies to ASUS’ suppliers and
its reseller. It is the maximum for which ASUS, its suppliers, and your reseller are collectively
responsible.

UNDER NO CIRCUMSTANCES IS ASUS LIABLE FOR ANY OF THE FOLLOWING: (1) THIRD-
PARTY CLAIMS AGAINST YOU FOR DAMAGES; (2) LOSS OF, OR DAMAGE TO, YOUR
RECORDS OR DATA,; OR (3) SPECIAL, INCIDENTAL, OR INDIRECT DAMAGES OR FOR ANY
ECONOMIC CONSEQUENTIAL DAMAGES (INCLUDING LOST PROFITS OR SAVINGS), EVEN
IF ASUS, ITS SUPPLIERS OR YOUR RESELLER IS INFORMED OF THEIR POSSIBILITY.
SERVICE AND SUPPORT Visit our multi-language website at https://www.asus.com/support/.



https://www.asus.com/support/

PB60 Overview

The illustrations below show the PB60 overview from rear panel view. Most of the
parts will be discussed in this manual.

OVER

VIEW

Front view / Front view / Front vieww

=
T

1. USB 3.1 Gen 1 port

Power Button

Air vents

USB 3.1 Gen 1 Type-C™ port
USB 3.1 Gen 2 port

USB 3.1 Gen 1 port

Headphone/Headset jack

© N o g K~ WD

Microphone jack




Rear view / Rear view / Rear view

10.
11.
12.
13.
14.
15.
16.
17.
18.
19.

?

t:lo@ =
] @ l ﬁ .0.0.0...0 9 g

s "E -e-" m At nnm

| | |

He

Wireless antenna jack

Air vents
Punch-out port
Power input
USB 2.0 Port

Display Port

USB 3.1 Gen 2 Port

HDMI Port

VGA port(on selected models) /Serial(COM) connecter/Display Port/HDMI Port

LAN Port

Kensington® security slot




comMmP
ONEN

TTS

MODULE

MODULE

Components
The illustrations below show the components of PB60.

HDD

TOSHIBA

Disx oRIVE MQOSABF100

DRIVE REV AAE AADO/JU000J

DC+5V 1,08 DATE: 04JAN201S

SN 184SPENET SWF HDKCBBSEOAO! T

1TB(LBA 1.853.525,1645actors)

B eneOE|

Lol
ST A
i (<)

ey ad
I
[

wons

Memory Module
The illustrati

7 )%, %2Lb O ON HN-NSHAVOSOIOYIH vavoy B
& P bh-J¥S-L00v2-12d 9kl 808 Wi B

SSD Module
The illustration below shows the SSD Module.




WLAN

MODULE

MAIN

BOAR

THERMAL

FAN

WLAN Module
The illustration below shows the WLAN Module.

Main Board
The illustration below shows the Main Board.
" e i ?

-

Thermal Fan
The illustration below shows the Thermal Fan.




VGA Board

VGA BOARD

The illustration below shows the VGA Board.

Switch Board

SWITCH BOARD

The illustration below shows the Power Switch Board.

L2

Switch Cable

Battery

BATTERY

The illustration below shows the battery.




Speaker

SPEAKER

The illustration below shows the speaker.

cPuU CPU

The illustration below shows the CPU.




nsus

Disassembly (Assembly) Procedure

Chapter

Disassembly(Assembly) Procedure

Please follow the information provided in this
section to perform the complete disassembly
procedure of PB60. Be sure to use proper tools
described below.

procedure for PB60 disassembly and assembly. In addition, the detailed
disassembly procedure of individual modules will be provided for your service

n SUS PB60 consists of various modules. This chapter describes the
Needs.

The disassembly procedure consists of the following steps:

Diagnostics Tools
Precautions and Tools
Top Cover Module
HDD Module

SSD

Switch Board
Thermal Module
Momery Module
WLAN card

CPU

Speaker

Main Board Module
VGA Board

The Battery




fsus

Disassembly Procedure

Diagnostics tools

Run system diagnosis in MyASUS after replacing

any components to ensure that all components are
working properly.

For more information, visit
https://www.asus.com/support/myasus-deeplink/



https://www.asus.com/support/myasus-deeplink/

nsus

Disassembly (Assembly) Procedure

Assembly Procedure
Please read the document from end to beginning, and pay special attention
to the assembly notice in the yellow frame.

Precautions and Tools

Please pay special attention to the cautions below to prevent any
damage to the PB60 and also please be sure to select the appropriate
tools described in this section to perform any services desired.

Before you perform any service and or repair on the PB60, please follow the steps
below first.

1. Be sure that the PB60 is powered down.

2. Disconnect the AC plug from the PB60

3. Remove all rings, watches and any other metal objects from your hands.

4. Always wear a ground strap on your hand to protect the PB60 from static
discharge.

5. Please refer to “ANSI ESD S20.20” about ESD protection measure.
6. Put disassembled top case and bottom case in the PE BAG to avoid any damages.

7. Environment temperature is 20-30 ‘C and humidity is 40% - 70%.




M®

Disassembly (Assembly) Procedure

Appropriate Tools

The illustrations below show the appropriate tools that should be used for the service
and repair.

Cross Screwdriver

According to different screw specifications, please choose appropriate
Screw driver and head. The photos below are for your reference only.

Use a cross screwdriver to fasten/remove screw &
The cross screwdriver below can make torque adjustment.

RTD120CN

Plastic Blade




nsus

Disassembly (Assembly) Procedure

Tweezers

Use a pair of tweezers to remove/insert flexible cables.

‘l——

Thickness gauge

Thickness compass specification 0.05mm-1.5mm. Use it to measure the gap.




m®

Remove the Top Cover Module
1: Remove 1 screw on the rear case (M2.5*5L).

Disassembly (Assembly) Procedure

2: Push the Bottom Cover by following the red direction, and make it to be not
locked.

3: Lift the Bottom Cover from the no-locked side.




M®

Disassembly (Assembly) Procedure

Remove the HDD Module
1: Remove 4 screws (M2.5*15L, M2.5*5L).

o Mol

= %

—_— 2 © -—t

2: Disconnect the HDD connect cable.




nsus

4: Remove the patch cord.
ON

Disassembly (Assembly) Procedure

Remove the SSD.
1: The SSD.

VPP




nsus

2: Remove the screw (M2*2.5L) and remove the SSD.

Disassembly (Assembly) Procedure

‘ﬁvnonu Ll

UN CRENSTATOO
Vodel MTFOCAVEIITRN

PN WTFOOAVSIITAN tARIZADYY

SN TOAMTES
Bl Procect of SINGAROAL WS REW MU NTFODAVIOXT BN
AWK MALOGEN FREE

Remove the Switch Board
1: The Switch Board




nsus

2: Remove 2 screws (M2.5*5L)and disconnect the switch board cable, then
remove the Switch Board.
Switch Cable

Disassembly (Assembly) Procedure

P AR\ I
18°1 AN Sime

wh
..




nsus

3: Remove the Thermal Module.

Disassembly (Assembly) Procedure

Remove the Memory Module
1. The Memory Module

Y MU OV ONHN- NRUIVISOLIVIH v
]

L& 11 1¥S - 100V - ¥3d 911 908 *




nsus

3. Grip with both hands, and extraction the memory.

[T g————

Disassembly (Assembly) Procedure

868 1R8 P - o4 Rt
~24007 - sAyagy
HMAS16S6aFRgY . 3y
-~UHNOAG g m ». B
AT L c € :
] ~

2
EIm i ec 38958 M

™

AAAAA

Remove the WLAN Card
1: WLAN Card.

S W0 TR PO 20T - 83 11

T MMARTBATA - 08 0 A 1723 lﬂ(k




nsus

3: Remove the WLAN Card.

Disassembly (Assembly) Procedure

Stam 000 SO ML~ 100t - 20 1y
e T




nsus

Disassembly (Assembly) Procedure

Remove the Speaker
1: The Speaker.

Remove the Main Board Module
1: Remove 2 screws (HEX #4*4+4.5+4.75) on the rear side.




nsus

2: Disconnect the LAN cable on the Main Board side.

Disassembly (Assembly) Procedure

3: Remove 6 screws(M2.5* 5L), and remove the main board module.
‘, =y ] b—‘ y




nsus

Disassembly (Assembly) Procedure

Remove the VGA Board
1. VGA Board.




nsus

Disassembly (Assembly) Procedure

Remove the Battery
1. Disconnect the Battery Cable and remove the battery.

)

=l P €€ TR0 :

3 oe




Disassembly (Assembly) Procedure

do::n

N RoMs

®

FECE

B




